

The Illinois State Toll Highway Authority 2700 Ogden Avenue
Downers Grove, Illinois 60515-1703
630/241-6800
630/241-6100 Fax
630/241-6898 TTY
1-800-TOLL-FYI Road Conditions
www.illinoistollway.com

Proposal OPENING

RFP

13-0218 Technology Professional Services

Wednesday, March 11, 2015, 10:30 A.M.

Vendor Name:			
Data Center Enhancements, Inc.			
Computer Aid, Inc.			
LRS Consulting Services			
AT&T			
SDI Solutions LLC			
Alert IT Solutions, Inc.			
Cognizant Technology Solutions			



The Illinois State Toll Highway Authority 2700 Ogden Avenue
Downers Grove, Illinois 60515-1703
630/241-6800
630/241-6100 Fax
630/241-6898 TTY
1-800-TOLL-FYI Road Conditions
www.illinoistollway.com

BID OPENING RESULTS

IFB

14-0077 Navistar Truck Repair Services

Wednesday, March 11, 2015, 10:30 A.M.

	Vendor Name:	Total Bid Amount (Table 1 plus Table 2)
1.	Thompson Truck & Trailer	\$248,125.00
2.	Rush Truck Center	\$301,625.00
3.	Lakeside International LLC	\$246,250.00



The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions www.illinoistollway.com

BID RESULTS IFB 14~0028 Motorcycle Lease 2015

Tuesday, March 24, 2015 Time: 10:30 A.M.

Vendor Name:	Grand Total
Lone Star-Cardinal Motorcycle Ventures III, LLC / Fox River Harley-Davidson	\$363,596.00



The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515~1703 630/241~6800 630/241-6100 Fax 630/241~6898 TTY

BID RESULTS IFB

14-0185 Tripwire Upgrade Software Support Services

Wednesday, March 25, 2015 Time: 10:30 A.M. Room 320

GROUP A - Software with Maintenance and Support for Twelve (12) Months

Vendor Name: Alert It Solutions, Inc.					
Description	SKU	Quantity (Each)	Unit Price (Each)	Extension (Quantity x Unit Price)	
Tripwire Enterprise for File Systems (1~16 processors) ~License	172110~00	200	\$707.74	\$141,548.00	
Tripwire Enterprise for Network Devices – License	172200~00	15	\$292.84	\$4,392.60	
Tripwire Enterprise Console – MS SQL Backend – License	162003-00	1	\$7,080.39	\$7,080.39	
Tripwire Enterprise Express Console – License	162004-00	1	\$1,066.27	\$1,066.27	
Tripwire Log Center Manager 2500 EPS - License	300202~00	1	\$35,422.05	\$35,422.05	
Tripwire Log Center Advanced Log Collector – License	300230-00	200	\$59.74	\$11,948.00	
Tripwire Log Center Remote Log Collector – License	300240-00	15	\$29.37	\$440.55	
Total – Group A: Software with Maintenance and Support for Twelve (12) Months					

GROUP B – Professional Services:

Description	SKU	Quantity	Unit Price (Per Day)	Extension (Quantity x Unit Price)
Tripwire Service – Tier 1 Consultant Services	900912~90	15 Days	\$2,908.59	\$43,628.85
Tripwire Service – Tier 2 Consultant Services	900940~90	5 Days	\$3,385.40	\$16,927.00
Tripwire Enterprise Integration Foundation	900977~90	1 Each	\$7,152.27	\$7,152.27
		1	Cotal – Group B: Services	\$67,708.12



The Illinois State Toll Highway Authority 2700 Ogden Avenue
Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions www.illinoistollway.com

BID OPENING RESULTS IFB

14-0073R Safe Repair Thursday, March 26, 2015

Vendor Name:	Grand Total Bid	
Oestreich Sales & Service, Inc.	\$234,997.50	